6.3) Using sec x, cosec x and cotx



Worked example Your turn

Simplify: Simplify:
cos 0 tan 6 cosec 8 sin 8 cot @ sec

1




Worked example Your turn

Simplify: Simplify:
sin @ cos 8 (cosec 8 — sec ) sin @ cos 6 (sec8 + cosec 0)

sin@ + cos 6




Worked example Your turn

Prove that: Prove that:

tan @ sec 6 cot@ cosec 8
= sin3 0 = cos3 0
sec? 0 + cosec? 0 sec? 0 + cosec? 0

Proof




Worked example Your turn

Prove that: Prove that:
cosecx — sinx = cosxcotx seCx —COosSx = sinxtanx

Proof




Worked example Your turn

Prove that: Prove that:
(1 + sinx)(secx —tanx) = cosx (1 + cosx)(cosec x — cotx) = sinx

Proof




